S 2 A S 10 S0 o7
IR R IR T SRR S Y

) AN =510 2y 08~ Fxef010)y | v S=0F

5)/‘“’5: ;Xé_ 2 ()th/fzf)l/ (Y'?-fc?ffxffﬁﬁ
-9<x <9 3

C) ;A\B) = Z o "«70,' - /8 /5, 7":’--“% X2 vxs-/y
LA

S VER | XwmodlS= A |Ix12 /5]

AV BNA = §ye [0, 40T, | wwmes/S <> 03

= x € (-9,9), N &t5, 0%



S32 4. L A=59.9.00 49 /5 4 49 2024, 323
B =Y Z 900, A AT AT A5 2 A B

) A3 - 55
= ?}/e f%-?;{](il W imed 30 N xwp/?f}d'}

5) AULD = xe€ f?.:-?ﬂé,
C.\ /-{"«.B = ;Xt‘: [fQ?I/JZ/ [ y;.-.-a/,?‘a'c}g

0{\ Bk/f = C?Xe: f-}";;ﬁl}( }(haa’&?{*}ﬁ‘ﬂ ,a(;...:/&f:}a_;



2&- {4"? L] #«/4{

B I S
b= ob \ L~ os = 4
ﬂ — & ;‘h\] = Gfﬂq- ‘/p,éj’?"?ﬂ
0,42y = H?‘?-r?
. N
2 \J y I
//? Iil 'IV‘L. . /‘_m /ﬂ ;I.,.Hp,‘ihﬁ[.-
<
zj - [ = —— >
o
o IR




Q-v - § =¥ [+§ g nided ~§>
2x =S +y = £+Y
2x + 0 = 42 Ay s wb wedal (+)
Mg 24« (T =~ % A2 \"(4’3 (\ves .-'.2)
A -xe F = € A 5l wndeal (V)
X = &
A2 +30 < 4= ; -
- - [ /4 :/4
R — 3 2SO -9 =92



